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If it was derived from there - 72p97 9997 9277 RIMKR 717 X772 9N
I would have said that it applies only if it already occurred.

OVERVIEW

The & ma stated that (according to 1727) the phrase 7% °"771792 017 70797,
was written so that we should infer from it that 7°9% "X X2 7772 71720,
The X723 asked: we do not need any inference; the Mo in "X is clearly
stated in the X9°0: 121 X"X °"X2 03 X273, To which the X na replied “That
from there 1 may think that the 75 is only 72¥°72”. Our Mo will be
discussing what the X713 means when it states ‘from there’; are we referring
to the inference from the X9, or to the more explicit statement of the X5°0.
npoIn will also discuss what precisely is meant by the term 72v°7.

= RYHT NPT ON ©90P2 VD
>"'w9 interprets that when the X3 states ‘if it was derived from there’, that
the term ‘there’ refers to ‘from the inference that was made from the

beginning’ of the mwn. The mwn stated 9% °"77m2 Ar7aL ArTn, from which we
inferred that 7% X °"X2 7°7% 7. This inference would have taught us that only
72¥°72 is 1"92 not required X2 72>71% 7370, but I would have maintained that initially
even °"X2 71T 717, one must say 1'92 . The X9°0 which states 121 7% X °"X2 03 X207

teaches us that even ;77°mnY there is no requirement to say 1"92 (even) >"'X2 71722 "17AR.
= a7 59913 99N 91991Y K81 NN KD NDYONT DIVN )3 YD)

And °"v" interpreted in this manner that 72¥°7 1"17 X" is referring to the
X7 X7 for concerning the X999 which states 97217 799X 11°X °"X2 U3 X227

1"52 the X3 could not have said that it applies only 73w572, but 751035 1

may have assumed that he is required to say 192 -
= NYNNIY YNPYNT 7598 1PN NP N*THa NNY

For it is clearly stated in the X9°0 that he is not required to say 1"91 if he
brings a *"X2 v} which implies that initially he is not required to say 152!,

mooIn is not satisfied with this interpretation:
=997 YNIWN XY XINNN N PYH 1N

However the expression ‘if it is derived from there’ does not indicate so;
the way *"w" interprets it. The 'R*77n X' WY, indicates that we are discussing the &5°0 of

! See “Thinking it over’ # 1.
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moon will now offer his interpretation that 'R>7777 °X' can indeed refer to the X5°0:
= AT I8 PN NN TV NINT AWM NI

And it appears that it can be resolved that here in this case it is possible
to state ‘he is not required’ which usually implies 72°1n27; nevertheless
here it can mean 72¥°73. This may seem contradictory; the term ‘not required’ means
he is not required to do something. Seemingly when the 73wn states 17 XX *"R2 ) X207
1"93, means he is not required to say 1"53, how can we interpret it to mean that if he did

not say 1"91 it is 72y°72 7w>? What would the term 77X X mean? What is he not required
to do?!

moon explains: The term 777X PX -
= DHNI 23929 3N 2393 N NIYI NININ 1TV 7998 1PN 9975

Means to say he is not required to retrieve the v from the woman when
he did not say 1''221 1''D2. One may think that if he brought a >"X2 v3 and did not say
1"91 he should be required initially to retrieve the v from the woman and give it to her a
second time after saying 1"92 -
- D2V 2392 1Y 11 NN NIN NIYVS NYYS 183 NPY ININT
For the X3 says later® concerning a m>w who brought a >"77an v, and
gave it to the woman, and did not say 1"52: what should he do to rectify his
mistake; he should retrieve the v from the woman, then give it to her
again in the presence of two witnesses -
= 05NN 392 2NI) 292 9INRN
And he should say (prior to this second giving) 1''92Y 1''93. We might have
thought that this same requirement would apply to >"&2 v3 X°2n7; that if the woman is still
present, he is to retrieve it from her and give it to her again. Therefore, the 71wn states X
T"%, that even if the woman is present, he is not required to retrieve it from her, because
in °"X a L3 is 7T2¥°72 W5 (even) if the 7w did not say 1"92. However, 177°nno% a m°%w may
be required to say 1"92 even in *"X. This is what we may have thought had the mwn
written only the X9°0. Therefore, we have the extra Xw 77 Xp17, which teaches us that

2 The x»3 was discussing the phrase >3 7177 A»7an', saying that it excludes *"'X3 7177 Ar7an. The
X773 then brought another phrase from the X9°0 of the wn (¥"X >"X2 1A X*2ni7) which states clearly (and not
only from an inference) that 1"92 is not required in >"X. This seemingly makes superfluous the need for the
previous inference. To which the X713 replies (seemingly) that the previous inference is still necessary: ‘for
X7 R, if it were to state only there, etc.” It would seem that the phrase ‘only there’ is referring to the
contradictory quote from the X9°0. The question is ‘from there’, and the answer concerning ‘from there’
should be identical to the question.

3a,007
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even 72°1N2Y one is not required to say 1"92 in °"X; not only 72y>72.

moon will question the premise that had the 7awn taught us only once the Mud of saying
1"51in "X, we may have thought that the 7105 in *"X is only 72¥°73, but 7%°1n5% even in *"X
there is a requirement to say 1"92.

= (X0 97 19p%) 7 P9 WA 1399INT NYH YaN

However, there is a difficulty; for we say later in the XX in the

beginning of the second 5. Concerning that which the 71wn there says —
- 2109 5510 DNN) 2392 XY DAN AN 292 99N 021 NN VI N>ANH

‘One who brings a v from overseas and he said ans1 123, however he

did not say anmi "122 etc., the 1°7 is that the v3 is 918°.
= 9915 V) NY2ANN NINIT NTNH NN NII)A 72999

And the x9%3 there asks on this previously quoted 71wn, we have already
learnt this 77 one time previously. The X723 then quotes our 71w, ‘one who

brings a v3 etc., is required to say 1"9211"52’. What is the 71wn in 2" teaching us?
= WD 9N NI N 798 NN NN NINNIN N 2IWN)

And the X923 there answers: if we would know this 1°7 only from the 71wn
in 'X P79, I may say that the 7°7 is that he is required to say 1"9211"92 as the
mwn actually states. However, if he did not say 1"521 1"92, nevertheless the

V3 1S 3. In our mwn it is merely stated that one is required to say 1"92. It does not state
that if one did not state 1"92 the v3 is 7109. Therefore, we require the miwn in 2" to teach
us that even 72¥°73, if one does not say 1"92 the v is 2109, This concludes the X3 quoted
from 2"5.

MooIN now continues with his question:
= NI 199IN NN 29N 999939 281 NN 929

But how could the X3 have said this; that from our 71w» we would have

thought that it is only a 7%°1n3% 211 and not 72v°72 9109; for we said here -
= 7998 NDINNIY HNIYWS NINIT NN 110 N2 90 NON NI XD INY

That if the m1w» would have taught us only one time concerning the
exclusion of *"X from 1"92 we would have said that in "X initially it is
required to say 1'53; the exclusion only teaches us that 72372 it is 3.

- 7998 ) TAYrTA 1PN DN NITNAT YYon
This implies that in °''7772 the requirement to say 1"91 applies even
729725 meaning that if 1"52 was not said the v is 2109 even 72¥°72. Our XM} surmises
that if it would say only once in the mwn that "X is MWy, it would mean 71%°1n>% 2*°1 and
72v°72 w3, Obviously since 7" is different and more stringent than "R, the requirement
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of saying 1"92 is not only a 77°1n22 21°7 but also 72y°72 9100.* These two Mna seemingly
contradict each other. Our &7 seems to maintain that in our 71wn the 21°1 of 1"52 in "7
is even 72¥°72. The X713 in 2"5 maintains that the 2117 of our 73wn is only 7%°103% and not
72772,

NIDON answers:
= 923 595 NN NINT INNNT 991D UM

And one can say: that after the 1w here states two cases -
- TN PR NYINNIY 1PN INIYI NINT IPINYNY

To teach us that in >"'X there is no requirement of 1"52 even 579> no% -
- ANNGY 1990 03N NI TOINT NNAT 912515 1181 NHYHN 15 ON

Therefore, at this point® (when we know for sure that "X 72°1n5% 12°0% >"'Xa

T"¥) we can say that the requirement to say 1'92 in >'';772 is only 72102 -
=72 PY9T PIINN TPIVNIN 991D WS TayrTa DaN

However, 72v72 the vi will be "w2 even without 1"92 therefore we require
the mw» in 2''® to teach us that even 72y>72 the 3 is 209 if 1"52 was not said
(properly).

moon will offer another interpretation concerning what the X n3 states here that we need
to be taught twice the 7o in >"X.
= YWID 2DNT PNYY 139390 AN NI

And furthermore, it appears to the >'' that this is the interpretation of
the X1 here, that if it would have said only the &9°0, we might have said -

—INNONNI VIN NAND NN NHY Tayr7a Y51 N
When does this ruling apply that 1"53 is not required >"X3, only 72a°72; this
means that the %% did not manage to see the writing and signing of the

B3, only then do we not enforce the 17 of saying 152 in >"X -
= 2319) %392 91217 Y21PYW 2713 INNINNI VIN NN NNV TP9X NYINNIY YaN

4 If, as the X7 asserts in 2"D, our 7w can be understood that >";772n one is only required to say 1'91
m2°1n3%, why does our mwn need to teach us twice concerning the 719 in *"X? Since 2" which is obligated
to say 1'93, nevertheless it is only a 72°1n3% obligation, then obviously *"X which is not required to say 1"53,
it must mean a 777°103% 70D, otherwise it is identical with %" m.

5 While we were still debating the need for the 71wn to teach us twice the 7D in *'X, we definitely
maintained that the 51172 21 is even 72v°72. Otherwise, we would not be able to resolve the need to teach
us twice the 7o in *"X. Once that issue was resolved that in >"X the 1w» is even 72°mnoY, then we may
imagine that the 21 in 9" is also only 79°nn%. The issues depend on each other. We usually assume the
minimum w17°11. Therefore, we at first assume the 719 in *"X to be minimum; only 72¥°72. After we are
‘forced’ by the duplicity of the mwn to assume the 7W» in "X to be even 12°1N3%; then we assume the
minimum in the 21’1 of %"n. It is limited only to 7%°nn>%. For additional discussion of this matter, see
‘Appendix’.
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However, initially even in "X, the m°%W is required to see the writing and
signing of the v3 in order that he be capable of saying 1''22 -

= P98 NIT YD yIYN NP
The 71wn teaches us Xp171 that he is not required at all to see v M N2°N3
in °"X.

According to this interpretation, when we thought that >"X2 there is a requirement to say
1"92 19°1mN3%; it meant that he should 7%°nn2% see LT N»NM N2°n2 in order to say 1"92.
Therefore, it follows that in 2" it is required not only that he see Y1 n»°nm n2°nd, but
even more, as NH0IN continues —

= 11999559 IN’ANY D192 PN INNINNY VIN NN AN ND ON 01 NH*71H2)
And in >'"';17% we are stricter than in °"X; if the 5w did not see n»snm nasns

vx7 he is not able to bring and deliver the v3 to the woman. In >"X (according to
the &"177 if it would say only the &9°0) one is required 72°1n3% to see VAT NN 72°N3 in
order to say 1"92. If the m%w did not see then '72y°72' he may 7%°nn3% deliver the v3
without saying 1"92. In "1 however, if the MW does not see LT N¥*’NM N2°03 we do not
allow him 7%°1n3% to deliver such a v3 -

= 72 PY97 1PN KD X WY NN 11N 19N X¥aN ON)
However, if the m5w ‘transgressed’ and brought such a v3 and delivered it
to the woman, I would have thought that it is 72y°72 =w> even in *"777,

were it not for the /73w in 2''5, which states explicitly that if 1'52 was not said it is
2109 even T2y 72

The contradiction is now resolved. If the 715 of "X would say only once, we would
assume that (even though 791032 he is required to see VX1 nN2°n3, nevertheless) if 72v°72
he did not see vx7 n2°n3 he may 7° 137 give the v) to the woman. However, in >"777% in
such a 72v°72 where he did not see va7 n2°nd, he may not 72°nn2% deliver the va. This is
what our X713 states here. In 2"9, the X773 continues this pattern, that from our w7 in X"D
we would assume that even though he may not 12°nn3% give a v without saying 1"93,
nevertheless if he did deliver the v) without saying 193, then 72y°72 it would be “w>.
Therefore, we have the 71wn in 2"D to teach us that even 72y°72 it is 7109.

n1»oIN concludes:
NP NI 9) NNINMI ROV

And now that we have introduced a new type of 72nn3% and 72v°72
concerning °"X2 v X°2nn the first question that npoIn asked is also

answered. We can now more easily understand that the X3 when it says X"17 %7772 X'
72772 1"17, is referring to °"X, and nonetheless I would have thought that only 72y°72, if
he did not see the writing of the v, then he may deliver it without saying 1"92. Initially
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however he should make every attempt to see v N2°n2 in order to say 1"91. Therefore,
the mwn teaches a second time that 1"92 is not required at all in >"X. No attempt need be
made to see the V27 72°N>.

SUMMARY

There is a disagreement between *"w7 and N1©OIN as to the meaning of X'
"N, According to °"w9, it refers to the Xw° 7 XpP1*7. It cannot refer to the
X9°0, because in the X570 it states explicitly 131 7°7% 7X. That means that even
72°1in2Y one is not required to say 1"92.

nooIn is of the opinion that the expression 'R X' cannot be referring to
the Xw°77 X177, it must refer therefore to the X2°0; that the >"X2 702 1s 72¥°72.
However, n2°nno% even 1"92°"R2 is required. We will understand the term R
77X to mean that if he did not say 1"52 he is not required to retrieve the v
and redeliver it while saying 1"52.

The >"9 (agrees with mdoIn that X7 refers to the X9°0 and) maintains that
the term 72¥°72 means that if he did not see ©37 n2°n2, he is not required to
say 1"92. However, 12°1n3% he is required to see the v1 n2°n3, in order to say
1"92. This interpretation of the °"7, resolves the following contradiction
between the two M7 concerning the duplicities of the nywn.

In our X" 1t 1s inferred that the >"737»2 27 1s even 72¥°72, while the X" in
2"n is that the *"17m2 2 is only 12°1n3%. According to the >3 the two mna
are discussing two different types of 72°nn3% and 723°72. In our X3 the 2R
72y>72 means if he did not see L7 nN2°n3 he may not (77°1n>?) deliver it since
he cannot say 1"92. In 2"5 this latter case is considered 7%°1n3%. The term 723772
means that even if he delivered the v3, if he did not say 1"92 it is a 7109 va.
npoIn himself answered the contradiction by stating that the X"17 in 2" was
assumed only after the XIp07 in our XA,

THINKING IT OVER
1. According to ®"wn why is it necessary to have the X217 Xp1’7; seemingly

from the X9°0 we know that the °"X2 709 is even 77910257’

2. What are the relative strengths (and weaknesses) of s""w7 and M»oIN

6 See footnote # 1.
7 See TRA X"wAn and 20,
6
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(including the >"7) interpretation of 121 X771 *X'?

APPENDIX®

There are two M17nx which are explaining duplicities in the nviwn. The X723
here is explaining the duplicity concerning the 7105 of saying 1"52 in *"X. The
X713 in 2", is explaining the duplicity concerning the 2117 of saying 1"92 in
*"777. The need for both these duplicities is basically the same; there is a
difference between 177°nn2% and 72v°72. In our 73wn the duplicity is needed to
ascertain that the °"&2 79 is even 12°1n3%. In 2" the duplicity is needed to
ascertain that the "2 21 is even 72¥°72.

These two explanations are at odds with each other in two respects. We
maintain here that stating the 719 in *"X only once would mean that it is only
72v°72 WO and 77°1n3° there is a 21’1 of 1"92 in "X. The only way we can
make such an assumption, is if there is a more basic presumption that >"77722
the requirement for 1"921 is even 72¥°72 (otherwise 772 and "X would be
identical)’. The X773 in 2" maintains that from the 71wn in X"5> we would
think that the >"777%2 2 is only 77°mn2%. To assume that, there must be a
more basic presumption that >"X2 the 75 is even 72°nn3> (otherwise *";717m
and "X would be i1dentical).

To summarize: our X713 (in the X"177) maintains explicitly that: a) the =0®
*"X2 1s only 72¥°73, and (therefore by inference) b) the >"7712 271 is even
72¥>72. The X723 in 2"5 (in the X"¥7) maintains (by inference): a) the Mw»d in
"X is even 772°nnoY, and (states explicitly) b) the "2 21°1 is only 72°1n25.1°
These two m1ni seemingly contradict each other. Specifically, maoin asks
that the basic presumption of our &34 that the >"7722 2117 is even 72¥°72 is in
contradiction to the assumption of the X" in 2"d, namely that the >"777m2 21
is only m%°nnob. !

8 See footnote # 5. The phrase 'D?1P7 X NPNYA2 MY 7> A1%p', may apply to various sections of this

‘Appendix’.

° The basic presumption (which we infer from the X"¥7) is more elementary and valid than the assumption

of the X" itself. This is evidenced by the fact the basic presumption allows us to assume such a &"7. More

importantly the basic presumption remains in the Xipon, as opposed to the assumption of the X" which is

refuted by the duplicity of the mwn.

10 moon only questions contradiction ‘b’ concerning the *"777m3 21, not contradiction ‘a’ concerning the

M9 in V"X,

' This question may be rephrased as follows: Let the mwn duplicate only the 79 of *"X, this would force

us to assume that in "1 the 21’1 is even 72372 (for if it were also only 772°1n>Y, there could never be a X"
7
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nvoIN answers that after we have resolved the duplicity in "X, that the 709
is even n2°nnoY, we can then assume that the °"717%2 21°17 is only 7%°1n25.
However, this seems not to answer the question. It seems that 19010 asks the
question according to the X"y1. The answer is that according to the Xipon
there is no question. Either there is a question or no need for an answer. At
issue here is that the two m 3 are inherently contradicting each other as to
the basic premise of the >"77m2 21n; do we assume that it is only 77°1n3% or
even 72y°72.12

A possible solution may be as follows: There may be two types of
assumptions in a XX 717 One is created out of necessity. For example'®; in
our Mwn since there is duplicity concerning the °"&2 70d; we therefore
create a X"17 that in *"X the 75 is only 72¥°72. It would be difficult to say
that if indeed the mwn only stated 131 X"X °"&2 ©3 X217, that we would
interpret it to mean only 72¥°72. There is another type of X" that is (more)
inherent; in which the reading of the text itself ‘forces’ one to assume this
position or &"17. It is only because we find proof to the contrary, that we are
required to abandon this X"77.

Moo when he asked the question, assumed that the X" of the X713 in 2"5
that our mawn is only 7%°N3% 21 was based on an inherent assumption.'*
This is the obvious reading of the text; it is 7% but not 9109. On the other
hand, moon certainly understands that the basic presumption of our X°A10
that the °"7722 211 is even 72¥°73, is certainly inherently true. Therefore,
npoIn asks; How can the Xn3 in 2"5 basically assume that the *"7722 211 1s
only n2°nno%? This defies the basic presumption of our X3 that the 211
"1 is even 72y°72.1

MBoIN answers that this is a mistaken assumption. There is no inherent X"17

that >"X32 it is also [72¥>72 75 but] 72°103% 2n). Then it would not be necessary to repeat the mwn in 2",
for we have sufficient proof from the duplicity of the M» in >"X that the *"777m2 21’17 is 72v°72. This question
can also be reversed that the duplicity should only be concerning 7" and not concerning *"x.
12 Similarly there is a basic contradiction whether the 7109 in *"X is 72°17n37 or 72¥°72.
13 This example is more appropriate according to Md01N explanation of "72v>7 "1 X" XA X',
14 This may also explain why moo1n did not question the other contradiction: How can we have a X"177 that
"X is 75 only Tav°73; this contradicts the presumption in 2" that understands the 21°17 of our 71wn to be
only 72°1in3%, thereby inferring that the "2 7w» is even 77°nn3%? Moo perhaps could not maintain that the
assumption that the "2 715 is only 72¥°72 to be an inherent one, especially not according to his WD in X
72Y°72 0"17 XM RN,
15 Stated slightly differently; we cannot have inherent contradictory presumptions.
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concerning °"77 whether our mwn means (only) 72°1n3% or (even) 7av°7a.
Our m1w» may mean either. We are not sure.'® If it would mean only 7%2°1no%
we will have to search for a different explanation for the duplicity of the 715
""X2 (and vice versa concerning the duplicity of >"770).17 It is a X" of
convenience; both here and in 2"5."® We are forced to assume the X" of
either >"7171 or °"X to justify the duplicity of the mwn. There are no basic
assumptions or presumptions. Therefore, there are no basic inherent
contradictions. Both X"177 are based on the fact that there is a dual duplicity.

This is perhaps what Mmoo refers to when he says that " % 1°%n Xnwan';
once either duplicity is stated and resolved; we know, for instance, that the
""R2 MO is certainly even 12°mn2%, then 'Y 1¥n', as a matter of
‘convenience’; to explain the duplicity of *"772, we can justify such a &"¥.
In the Xipon (as well as in the X"77) there are no inherent contradictions.
Each duplicity was stated so that no matter what the basic presumptions are,
the 17 will be very clear; 72¥°7212°9K 21 °"11712 and 72°102% 12798 MWD "X,

16 Similarly (or even more so according to mooIN) there is no inherent X"177 that the Mws of *"X is only
7aV>72.
17 We may use the following explanation of the >". We cannot ask therefore (see footnote # 11) let there be
only one duplicity (e.g. concerning >"X) and we will know the other (>"771). There is no valid presumption.
Even after the duplicity of *"X we may still argue that *"777 is 72°nno?. The presumption of the X" has no
inherent value. We can always maintain that there is a different xm>-x.
18 Therefore there is no logical contradiction.
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